<o dxy > (um)

<op/p. > (%)

.................................................

................................................

o :
107 1

2 3
TPlpoT (PCA t%obeamliné[f)

g
o
a

<dcot®>)

.................................................

................................................

107 1

—=— DQM_original_step2__pt1000_etalp4tolp6
—e— DQM_mkFit_step2__pt1000_etalp4tolp6

—— DQM_pixelCPETemplate_step2_ pt1000_etalp4tolp6

..................................................

o

|
=

|
N

|
w

107 1

[y

1071 1

I2 3
- (PCA t%)obeamlin%)o

10

<dd,>(um)

107 1

2 3
- (PCA f%)obeamlinép



	Contents
	Page 1


